MEI—R  K49432 +K49433 +K49434
# I MRB0855T-MRB0855T-0S:-MRB0855T-4S

BMBI—R  K49435 +KA49436 +K49437
& 3L MRBO0855N-MRBO0855N-0S-MRB0855N-4S

Smftin®s  URBO0855-22

- B CIEMDIRIE, wiTElmtsiaiE CEE TS,
- fHFREmO—EBICIE, FE&H -y MEFEDHDERmDBDET,

A=HIHIZ U5y o



=

HED TEXIZDONT

1. B TEXOEIG, TRlEHE SEEC72
®qom &

Hamttra R (B0

# W

# oo & 5

e £S5

MmN I ARRRS L URKICEGD
R—ALTL—FIRRLTOET,

OO O n

2. HEHEMoE -3, PFTolsazRLTEBY
F 7,
Hevatnd, fiAAEN TV B EKSELE
& kb Bis 285,

D7 v 4 BICEEN TR TR
LB,

3. RHLESH itk sTVwARbDiE, B
HimEEV, WHAPELL PPV ETOT, £
DEE CHEKEXF T WIS Ed,

4. HRBRO—IIcE, &« &y MRGED
HOFWEDB D0 FT, THXOBEIE TR K
I, FBRF L. SN TR VERIE
oy MRSEOADOHIRE STV s T,

M mRIABRFIC L TFERIR - HEEZLEHE
THEILEDBHDET,

AERHOBRERICONT

fESmEStERRTBE RO ZE W,
MFEUSEBEVICR D 3 &, BROARH P
HREICEET 205D T,

C OERFOFEARRmOMEER GHRD 3.
BEFT BB IETT, i L, HBFBRAT
B->Th, BHMEICDWTIEMER &% T
THTVRELES LD ET,

FHEER & OUHE (ZFEBIRIC i3 LR O MR EIR T
BT LETH, HHEERERETH > Td, Hin
MG D TEEED D - 1B A IS X kg o
WTIHBEEETW KK EES,

BEEIZDVT

B oduE EOIRK E LY 40T, TH
MNTLIEX WD,

BuE L e e PRk aRAE Ic R s iz E L »
FHENEER 25481, RiodRAciy £
FTOTITERL LSV,




MRBO855T - MRB0855N

71/—-[\, bs_ I\, :/-\vUV

MR O — VR —5

065-0053-1003

27 | NZ22150

F v b 8 2¥2 M22X1.50

28 1114382004

Z % v FCP ; 450A

29 | 000453000M

FyEY ;9

30 | 0008510000

*y w286

RibES| e %S B & ) [ i %

| 1413783004 7 L — &CP 1
3 079506500M FL—F 1
4 BJ10025 +5+v 97 B 109 MI10X25 4
6 1405040004 Ry b 7 CP 1
7 0793823004 NGV 2
9 BH12030 Fvvy7 B 109 M12x30 1
10 BZ12030 K h 88 M12x30 2
11 ONB6 JIY ==y 7N B M6 2
13 143978000M 73549 F; R 1
1405081004 7 — ~CP 1
15 079385000M AN 2
16 055032000M B2 xRN MEX1E 4
17 NSP08 aFsRTIY v ITFy b 4 M8 4
18 1562740004 4 Y27 7CP 1
19 WRA1L0 ESHA R MIO 1
20 PC032016 7Yy 3.2X16 1
21 043343100M 27y vy H 2
22 WS22 SNERFEH R 23y M22 2
24 1114320004 7—A4ACP; R 1
25 1114351004 7—4&CP L 1

26 000006200M ny—Y sy ;0] 2| @22, 27
2
1
1
1




MRBO0855T - MRB0855N
TJUb—=L, —=bF, YUy

INIO—)pR—5

065-0053-1003

RitiEs Ha&ES il &n % Py EE 1 ]

32 087253200M ¥ 7 b 2

33 | BZ12070 F b 88 MI2XT0 2

34 | NNF12 75V F4a oy b M2 2

35 | NZl4 Fv b 8 2va Ml4 2

36 | 072968100M Ty ¥y ;14 2

38 1548520000 Z 4% ;16X6.50—8—4PR 2

40 | 081225000C FA =V 53751-8 2

41 BZ12055 A b 88 MI12X55 2

42 | 000532000M Fyy 7 2

43 | 000762000M * 7 2

44 1 0812260000 A5 — 2

45 | J6205LLU R—bX7 Y o 6205LLU 4

46 | NA20 Fv b 4 2¥a M2 1

47 | 0857580000 F v 2% ;100 1

49 107409000M =0 110545 59147
50 | 089222000M AT — 110548 5147
ol DEO015 EZsbrrv 15 2|08+4S 52147
52 | 089223200M HA FCP 2| @B3f+ 0S-4S8 547
53 | PS080032 A7) vTEY 8X32 2,05+45 5147
60 | NSZ10 aFyFy b 8 2¥a MIO 4

61 WSA10 NEHFH R JTT MIO 4

63 | NZ12 +» b 8§ 2av MI2 8

64 | WSA12 NEFEH X Ty M2 8

66 | BSZ08020 aHFyEE T M8X20 1

68 | WSAl4 NEXYH R 3T M4 2




=L, =p, YeUr

[ 13087-2]

065-0053-1003

ALES

o E s

# 5

£

69

1439750004

7=t

70

BSZ08020

aFyENE T M8X20

71

NSPO8

aHIRATY v TFy b 4 M8

72

BZ12040

R b 8.8 M12X40

73

NSP08

ARGARTY v TF ey 4 M8

74

RTR413

Y 4N T A7 A TRAL3

75

1568010000

¥4 ¥AS; 16X6.50—8—4PR

@38, 40, T4+




MRBO0855T - MRB0855N

INBIO—)VR—5

KD (1)
23
EITH % Y o (S
b;
)@ 15
25
RiiEs HERES #h m % a) % i E

1 1114521002 Y%7k ; PIC 1

2 1114530004 FrRy 72 1

3 1114540004 Ry J 27 10— 4 1

4 1484820002 RNV FE Y ;12T 1

5 1484810002 XAV FE Y ;22T 1

6 0556990000 IFA —

7 KFCO7070250 | ~Mf awf— Jaw=i TXTX25 2

8 1413750000 Yy 7 b 1

9 J6305LLU R=I<7 1 7 6305LLU 1

10 J6305 R—AXT Y vs 6305 1

11 | J6304LLU K—=7 Y 7 6304LLU 1

12 | D406210 Ay — DAOX62X10 1

13 | D25457 AN = D25XA5XT 1

14 | D25528 AA Ny =y D25X52X8 1

15 DC025 CHsbrxg Yo 25 1

16 | BSZ10025 aFyFELE T MIOX25 6

17 | BSZ10035 afyR RV 7T MI0X35 3

18 | BSZ10050 aFyEL T MIOX5) 8

19 | 000338000M Mi0 757 1

20 1 0003390000 Ny Fy (MI0 F57aw) 1

21 10007170000 Fa—aty 1

22 | 0793232004 R7a’ry FCP; 16T 1| @201

23 | 0797931004 V=R RILY — 1

24 | 0812320000 Yy —R ik MEX30 111 107 Tl

25 | NP06 R7YvTF o b M6 11| 104 T &

|
>
|



k9 (1)

AEs HaEs i i # i ks i ]
26 | 0774471000 FABYT Yy Va 2
27 | 0000963000 PICH+ » 7 ;35 1
28 | DHCO062 Chrsbrw 7+ 62 1
29 | ONA6 JY—-R=w 7 A M6 1
30 | B4630—1012 R /vF 5 10X12 2
33 111458000M ZL—F ;45 1
34 | J600TLLU R—nw~71 v7 6007LLU 1
35 | J6206 K—xT7 Y7 6206 1
36 | WSAILD NER¥H R 3T MO 18
37 | NSZ10 a#sFy b 8 2¥a MO 12
38 | BSZ10030 aFyFwr 7 MIOX30 1




kv (1)

MRBOS55T - MRBO855N

/J\&UD—}—'E

Riigs HaES # fn % i) TE%4 I8 %

1 079324300M A7y b 22T 11

2 079325300M A7 vy b 22T 1

3 079326200M 5= A 9

4 079327300M A5—,B 1

5 0851322004 o —CP ;1 5

6 0851344004 o — VCP ; 2 1

7 1562730004 o —JCP ;3 3

8 0851363004 o —JCP ;4 1| ®4aft
9 079507100M 75 v YCP 10

10 081235000M 75 v YCP 10

11 JCS206LLU 2=y baux7 Yy CS205LLU 20

12 055149300M NATF Y 18

13 0793472004 NG VT 1

14 | BSPZ08020 IHISWyFFENE T MEX20 48

15 BSPZ08025 a#XySWyFKELE T MEX25 3

16 | BSPZ08030 a#XySWyFKur 7T M8X30 9

17 | DC025 Chosbrrg v 25 10

18 | 0793461004 N Y vT 1

19 0815250000 Ty ¥all Ny b 6X6 18

21 NNF12 75V FA4 vy b MI2 9

22 040608401M Ty ¥y 13X45 9

25 088114000M A7 — 11 MRB0855T
26 096757000M VA 25.5%X0.6 -




7 ko (]

~
AEs HaEFS #h T % PR % i E1
1 122514000M FvyvaryrT—4LCP; A 1
2 081741000M Fvia 7 —ALCP; B 1 @14, 16+
3 079331400M FYVavIFr—rF 1
4 BSPZ08025 aFISWyFFENLE T MEX25 2
5 044097200M Ty ¥y ;8 2
6 0008230000 PICH x— ;1 11 HE8E .38 7147
7 0008251000 URZZ7E 1
9 081267000M Fvigva—35CP 4
12 DCO17 ChHo vxg v 17 4
13 (081742000M 2y N 2 | @15
14 WRAI10 Es¥Ax MIO 2
15 NNF10 75 vvVFrA4nryFy b MO 2
16 PC032016 7Y 32X16 2
17 079334000M 7w ¥ 21X1.6 2
18 PC032032 JyEy 3.2%X32 2
19 085350000M 27 T 2
20 085351000M H o — 2
21 LAbB0O144 o—35Fz—v b0X144L 1| @241t
22 L.A5S0126 o—35Fx—> b0X126L 1| @241F
23 L.A50042 o—5F z— BHIX42L 1| @24£F
25 0998550000 PICAH /N— 110548 5747




MRB0855T - MRB0855N

Evyo7v7 (1)

INBIO—)R—5

& & & PR % & £

Yy 77w 77L—4CP 1
2 1114492004 +4 FFL—+CP; R 1
3 0852215004 +4 K7L —+CP; L 1
4 BSPZ08020 aAFISWY EFRKIE T M8EX20 5
5 KMS009 TFAOFE T 9 5
6 079308100M 7=k 1
7 079307300M Y% 7 b 1
8 PC050036 JYEY 5X36 1
9 WSA14 NEFH R 3w M4 1
10 | BSPZ08025 aAHFSWYEFELE T M8X25 3
11 | 085222100M O=4575yVa 11
12 | BSPZ08020 aFISWYFRLE 7T M8X20 22
13 | RBT08020 & B 109 M8x20 22
14 | 0852233004 54 vs5—CP 4
15 | 0852241006 A4y 24
16 | BSZ08055 a#myFEE T MEXED 24
17 | NNF08 75vVFA4arFy b M8 24
18 | JSBXO126LLU | ==y b3 o <x7 Y ¥ SBX0126LLU 4
19 | DCo12 ChHsrvrm v 12 4
20 | 0792824004 77 4 1
21 | 0640350000 FARY Ty va 8
22 1032960004 g4 7L —+CP 2
23 | BJ08020 +I73F+w7 B 109 M8x20 4
24 1 057788100M N 2
25 | PC050056 7YY 5X56 8

|
T




Evyo7v7 (1)

7

A =
A& HRES &l B & PR % I E-]
26 065487000M ;35X 1.2 12
27 0852270004 g8y 7 HN—CP 1
28 0822400004 25— +rCP, R 1
29 0822420004 ZH—+CP; L 1
30 0442890000 =F1 ; M8 4
31 000088100M NR— & ;19X 2
32 060807100M 7wV 2
33 SSC0620 Yy w2 6—14 2
34 CZ050027 Yy F«—ry Hwvag HXATHEPX2T 1
35 0852250002 P A 1
36 BX10070 Fh 109 MIOXT0 2
37 NNF10 75 vV A arsFy b MIO 2
38 094889200M 7 L—k 1
39 BSZ08012 aFyFELE T M8X12 2
40 0591440000 Ja iy b 1
41 044098500M 7w Yy ;10 2
42 1032990000 Ty ¥y, 43X3.2 8
43 WSA08 NERHFEHx 3Tv M8 28
44 044097200M Ty ¥y ;8 24
45 NSZ08 aFyFe b 8 2= M8 4
46 WSAI0 NEHHR 3T MI10 2




MRB0855T - MRB0855N

Evyo7v7 (1)

INIO—)YR—5

Riigs| BmES #B &h % i) ik i =l
1 0792843004 Yy 727 w7 AN~ 1
2 0591440000 Ja Ay b 1
3 0006900000 =F1Y ; M8X14 3
4 JCS204LLU A=y b3aux7y s CS204LLU 2
5 085226100M 75V 1
6 JPFL204G N4 75y kY PFL204 3
7 099682000M Fob - M8X20 2
8 079299100M V7 —1 ;45" 1
9 079300100M V7—1 ;8" 1
10 | 000034100M PR T a7 — Y 1
11 BSPZ08025 AFISWyFENL L T MEX25 2
12| 079301100M HIv T 1
13 | 079302000M A7y 7 H 1
14 | 079297300M Fv¥avCP 1
15 | VLB040 Vv LB—40 Av vy 1
16 | DC012 CHybrx7 Yo 12 1
17 | 061847000M 7y ¥y 1TX16 1
18 | PC032032 7YEy 3.2X32 2
19 | NZ1i2 Fv b 8 2¥a M2 2
20 | BSZ10020 amyEmr 7T MIOX20 3
21 040608401M 7y ¥y 13X45 1
22 | BXI08070 Far 109 €r M8XT0 1
23 | JCS206LLU 2=y ba3uRTYys CS206LLU 1
24 | JPF206G NA 75V = PRAG 2
26 | BSZ10040 aHFyFEmr T MIOX40 1

|
—
<

|



Evwo7y7 (1)

RiiEs MaFS B B % i) {1 i &l
32 141379000M L/x—CP 1
33 | 087493000M vy 77—} 1
34 122518000M = 1| @37, 45fF
36 | 079422000M 74 —7 XV F;10%x40 1
36 | 079423000M v 10X40 1
37 | PC032016 7YEy 32X16 1
38 | BSZ10030 afFyFEr T MIOX30 1
39 | NNF10 7 vVrAursy b MIO 1
40 | WCL10 FIN%x A4 MIO 2
41 0007220000 =F1Y ;12 1
42 | 063275000M 27y vy H 2
43 | 063276000M Fouh MIO 2
44 | NSZ10 a#msFy b 8 2¥a MIO 6
45 | WRAI10 SR MI0 1
46 | 0793033004 A257—CP; R 1
47 | 0793053004 257—CP; L 1
48 | 0793064004 7oy 1
49 | 000085200M N—g v 8X16 2
50 | 055032000M By FHENE 88 M8XI15 4
51 | NSP08 AHGRFY U TF ey v 4 M8 4
52 | 079334000M Ty ¥y 21X1.6 1
53 | 085137000M Ty ¥y 13X3.2 1
54 | WSA1L2 SNRYHR 3Ty M2 2
55 | WRAO8 LA M8 2
56 | WSAIL0 SNERYHFX 3Tv M0 3
57 | WSAQ8 NRFEHFE 3Ty M8 2
58 | NSZ08 a#wygFy b 8 2¥a2 M8 1




MRB0855T /MEO—IIR—F
bOAVINA T 42T

065-0050-1005

B i E =

# fl £ )

B
e

Firs

[&]

| 1442932004 NA YT 4 VI T L —LCP 1
2 | BSZ08020 aHZENVE T MEX20 4
3 | 044097200M Ty V8 4
4 | NSP08 ARYRFY P Fy b 4 M8 4
5 | 148341000M >4 77— FCP; 08 1
6 | BSZ08020 aFy R T M8X20 1
7 | NNF08 75y VF4nrdy b M8 1
8 | BH08016 +4v v 7B 109 M8x16 1
9 | NSP08 AFIRAFY YT+ b 4 M8 1
10 | 1020460000 F47 1
11| 055032000M HoFELL 88 M8XI15 1
12 | NSP08 AXFIRFY T+ b 4 M8 1
13 | WRAO08 ES¥AE M8 1
14 | TPA03006 FNEYEVRY A 3X6 1
15 | 140642000M TYIIN 1
16 | BSPZ08020 AFFSWyHFENLF T M8X20 3
17 | 044097200M Ty Ve )8 3
18 | 1406430004 5 — WCP 1
19 | 1406470000 Yy 7 b 1
20 | WRAL6 ES¥H R M6 2
21 | PC040025 7YY 4X95 2
22 | 1441030000 Ty va;16%15 2
23 | 1311500000 TR b= 2
24 | 140648000M 7L — b 2
25 | BZ06016 FUb 88 M6X16 2

¥
|



INI O —JUR—5
bIAIINL T 405

AlEs BEEFS il i # i % 1 El
26 | NPO6 ATV TF e b M6 2
27 | ONC6 TY—R=w TN C M6 1
28 134367200M oA HAFCP 1
29 | BSZ08020 aFy R T M8X20 2
30 | 044097200M Ty ¥y ;8§ 2
31 NSP08 AHSRTY U TFy b 4 M8 2
32 140649000M =7 1
33 BZ06010 F b 88 M6X10 2
34 | WS06 NEFHZ 2T M6 2
30 1302860002 Fv ;8T 1
36 140650000M A5~ 17.6X4 1
37 | J6003LLU F—wx7 Y vy 6003LLU 2
38 | DHCO035 CHsrr2v 7+ 35 2
39 | DCO17 CHzsbrrw vr 17 1
40 1019510000 b4 vF—1 1
41 TRK08020 6h A% 109 7K M8X20 1
42 | NSZ08 akXyFetr 8 2v¥a M8 1
43 1302870004 A7u4g v FCP ;L 1
44 | J6003LLU F—x7 ) 7 6003LLU 2
45 | DHC035 Chgsrro 7+ 35 2
46 140651000M 75— 17.56%10 1
47 140652000M F¥ ;34T 1
48 | KFD05050100 | ~f a9+ — Y aks 5X5XI0 1
49 | 094946000M Ty ¥y 1T.6X2.3 1
50 DCO017 Chswvrvw v 17 1
ol 090360100M ¥4 18.5%0.1 3
52 1406531004 vy i CP 1
93 BSPZ08020 IHISWYFE T M8X20 4
54 044097200M Ty ¥y ;8 4
95 1341740002 Yy 7 b 1
o6 140650000M A7 - 17.56%X4 1
57 | J6003LLU R—=x7 Y s 6003LLU 2
o8 | DHCO035 Chsbhrg 77+ 85 1
59 | DCO17 Cazbrxw vy 17 1
60 1441140000 P4 o —5f(F =~ ; 40x100L 1
61 1434204004 b7 A 7L —A4CP 1
62 BSPZ08016 IHISWY FHNLE T MEX16 4
63 1430330000 NG —gf Y FE—F 1
64 | CP05020 +FRaR Y MEX20 3
65 1442960002 Yy 7 b 1
66 | P5040025 AT VTEY 4X25 1
67 140658000M o—5CP; 7 Ko 1
68 | JHFL2026 7v9 =425y F HFL2026 1
69 (G20263 AANY = GIAX2X3 2
70 140704200M 75y b 1
71 BSZ08020 ok ELE T M8X20 3
72 | NSZ08 akgsdyr 8 22 M8 3
73 WSA08 SNEHFHE 3T M8 3
74 JCS203LLU 2=y baIYNTY vy CS203LLU 1
75 JPFL203G NA 75 vy ey PFL203 2




MRB0855T
IAINA DT 42T

INIO—ILR—5

5

&, mdk
R? 85 B 91 /%
065-0050-1005
REsS WMamES i & % P %K i £

76 | BZ06016 Bk 88 M6X16 2
T7 WS06 NRYFH R 2TT M6 2
78 | NZ06 v b 8 22 M6 2
79 7018020000 A K 4
80 | DC020 CHs b2AD V2 2 4
81 140701100M 7 —&CP 1
84 | WRA12 LSRR MIi2 1
85 | NNF12 75 vVrAnvity b MI2 1
86 140660100M 57 = 1
87 | J6203LLU R—bx_7 1) v 6203LLU 1
88 | DHC040 CHsbry 773+ 40 1
89 | DCO017 CHsbxrw Yo 17 1
90 082675000M RSy T 1
91 BZ06016 Kk 88 M6X16 1
92 NZ06 Fv b 8 2¥a2 M6 1
93 079495000M FryYarvyFl—h 1
94 013290101M 75y FHATY VT 2
95 NNF06 75 vVFLav+e b M6 2
96 142578000M #HA4F7v—4CP 1
97 1425830000 R 1
98 077392100M N — 1
99 BZ06016 Fa b 88 M6X16 3
100 | WS06 NERYH R 2TY M6 3




FIAIINA T 4T

INES O =) R —

7

7

m%\@@@\

46
A

4
49

51

50

oo

13942-6

065-0050-1005

ST
QT &
AN\

RiES BmFF B tm #% i3 TE% i &l
101 | 105788000M bOAVIEAF 2
102 | 070398000M RFY T A 2
103 | BZ06035 R+ 8.8 M6X35 2
104 | NNF06 75 v IFk4arFy b M6 2
106 | WRAD6 LA R M6 2
106 | PS060020 ZA7Y v ITEY 6X20 2
107 | 148363000M TV 1
108 | BSPZ08016 aFISWyFHENLEF T MEX16 2
109 | WS05 NRYHR 279 M5 3
110 | 147154000M N—CP 1
111 | 091298000M Ty ¥y ;6 1
112 | 077377100M RFY VT 1
113 | NNF06 75vYrAfo vyt M6 1
115 | 059097000M 7w ¥ 20.56X3.2
116 | 046001100M 7y ¥ 20
117 | 0858040000 P -




MRB08b5N
Ry bBSAF420T (1)

INIO—LR—=5

065-0050-1006
RiiEs BMREES & i & g % i
1 1407990000 Tho—5CP 1
2 140805100M L /¥ —CP 1
3 PS060030W AFY Ty F7uaw 6x30 1
4 PS035030W A7) Ty FTay 3.5%X30 1
5 140810100M oy FCP 1
6 079334000M 7y ¥y 21X1.6 1
7 PC032032 7Y EY 3.2%X32 1
8 061847000M 7w ¥y 17X1.6 1
9 PC040025 JUEy 4X25 1
10 134940000M TN T 1
11 143986000M 7y F 1
12 | ONB6 JY ==y 7N B M6 1
13 | PC040025 7YY 4X25 1
14 1226680004 AV 1
15 122685000M A 1
16 BSZ08025 aFy RIS T MEX25 2
17 | RBT08025 RF B 109 M8x25 1
18 | NSP08 AHGATY) T Fy b 4 M8 3
19 BSZ08030 afdyELE T MEX30 1
20 | NSZ08 aHsyFy b 8 2va MS 1
21 1395100004 v+ 7 bCP 1
22 J6905LLU R—x_7 1) vy 6905LLU 1
23 | DC025 CHsb2x7 Y 25 1
24 | HF2520 JrvoxA4s 5y F HF2520 2
25 J6904LLU R—x7 Y s 6904LLU 1

|
—
(]

|




MEO—R—5

Ry b4 oF 407 (1)

AEs BoEFES B fi # i B i &l
26 | AW04 NTYVvIT e vy AWH 1
27 140812100M 75 v 97T —4CP 1
28 | G25324 ANy~ G25X32X4 2
29 044214301M T v ¥y 20.5X1.0 1
30 060807100M Ty ¥y 1
31 BL8D Y7 &R— BLHY XX M8 1
32 122684000M oy K 1
33 | NSZ08 aHmsFyt 8 2v¥a M8 2
34 000085200M N—F Y ;8X16 1
35 153538100M FvYva 7 —4LCP 1
36 | KBB—1810A H=RHYFEF4XTY s A 18X20X10 %
37 | DCOo18 Chosbxrmw v 18 1
38 | ONC6 JY ==y PN C M6 1
39 | 000034100M BBl g v — ) 1
40 | DCo012 CHsrxrw v 12 1
41 153537000M E—IN—2Z; %y b 1
42 BSZ08016 aFmyFEvE T M8X16 2
43 | NSP08 IHFRTY T F b 4 M8 2
44 1528890000 TR E-F 1
45 | BZ06035 F b 88 M6X35 3
46 | NPO06 ATV TF ey b M6 3
47 132670000M R v H23X11X95 1
48 | BZ06030 Fo b 88 M6X30 1
49 BSZ08020 aHFyEE T M8X20 1
o0 | NSZ08 aFyFy b 8 2va M8 1
ol 143958000M 7= A—-62 1
92 | PS080050 ATy ey 8x50 1
53 | 802851000M 7 5% v +CP 1
54 | 0565032000M AU Fx B 88 M8XI15 1
50 NiSP08 AHERATY T v+ 4 M8 1
o6 122656000M 7—YCP; A—6" 1
57 | VLAQ28 VAwn bk LA=-28 ALY 1
o8 PS040025 RTSYVTEY 4X25 1
09 141929000M Ty ¥y 1
60 WRAQ8 ESY A M8 2
61 WRAQ06 EZHHE M6 1
62 WS506 NRFHR 279 M6 1
63 | ANO4 N7y sy b ANO4 1
64 1514461000 t—yarvhbo—jaz=y pCP 1
65 CP04016 +NaTRY M4X16 2
66 WS04 NERFH R 299 M4 2
67 | WRAN4 ESHH R M4 4
68 | NAO4 Fv b 4 22 M4 2
69 | 801552000M Ty ¥y 6.1X16 2
70 | NZ06 v b 8 22 M6 3




MRB0855N
Ry bsAVF 427 (1)

INRIO—ILR—5

085-0050-1007

RAiEs HmES

#B 5B

Fr

=
P

1439511004 Fw b7 L—4CP 1
2 BSZ08020 aFyEVE T M8X20 4
3 044097200M Ty ¥y ;8 4
4 NSP08 AHFFRTSYTFy 4 M8 4
5 J6008LLU R—_7Y 7 6008LLU 2
6 DHC068 CHsrA9 T+ 68 2
7 122633000M 0—3 1
8 J6301LLU R—=~7 1wy 6301LLU 2
9 WRA12 ESHA M2 2
10 1226340002 Y¥ 7 b 1
11 | PC032016 gy KBy 32X16 2
12 | BSZ10020 aygHRur T MIOX20 2
13 | NSZ10 a#xyFy b 8 2¥a MIO 2
14 1408000002 VN — 1
15 | 075290100M 7w ¥y ;10 3
16 | WSAI10 NRAYFHR JTv MIO 3
17 | BSZ10030 aFyFEnvr 7T MIOX30 3
18 | NSZ10 akgyry b 8 2¥a MIO 5
19 | BSZ10025 a#yFENEr 7T MIOX25 5
20 132655000M N VT 2
21 0934880000 Ty ¥a ;16X25 2
22 | ONC6 ) —R=y 7N C M6 2
23 | 065474000M A7 xFENE 88 M8X20 4
24 | NSP08 AFERTY v TFy b 4 M8 4
25 114021000M #15—; 16.5X22X1.0 2

|
—
lo]

|



Ry bixAF 427 (1)

085-0050-1007
Ri%ES| HmES B o % i) A% il El
26 | 0883040000 v 16.6X22X1.0 5
27 1408012004 +4 77 —4CP 1
28 1226390004 o 1
29 122640000M FA4 77 L=1F 1
30 | BJ08030 +IF vy 7B 109 M8X30 9
31 | WSAQ8 NEFHA 339 M8 9
32 | NSZ08 axyFy b 8 2¥a M8 9
33 122645000M RNy H2.9X20X95.5 3
34 141929000M Ty ¥ 4
35 | 1439470004 * v FAAFCP 1
36 | BSPZ08016 a#y SWYFENMF T M8EX16 4




MRB0855T - MRB0855N /NEIO—IpR—7

Ry pTL—F

065-0050-1012

RiiEs| Mo FES i bn % i % ]
1 122891000M e 1
2 067118000M RFY TG A 1
3 WRAI10 EZHA R MI0 1
4 000085200M N—F L ; 8X16 1
5 140820000M TV —F7—ACP 1
6 124024000M LN — 1
7 PS050020 AFZY v TEY 5X2 1
8 0007220000 =FY ;12 1
9 1292520000 HRARTY 7, 20kef 2
10 | BSZ10016 afsEnmt 7T MIOX16 2
11 NSZ10 aFsFe b 8 2va MIO 2
12 | WRA10 ESHA X MO 2
13 | PC032016 JYEY 32X16 2
14 140822000M T VI 2
15 140823000M R 1
16 | BSZ08020 aFyFEVE T M8X20 4
17 | NSP08 AHIATY) Y TFy b 4 M8 4




A5 45—5

8

19
065-0050-1008
REES BMRES i i # [ R & £
1 140456000M VI 1
2 BSZ08020 angFEEr T M8X20 1
3 NSP08 aAFZATYVTFy b 4 M8 1
4 140457100M oy FCP 1
5 WRAO8 ESHH R M8 1
6 PC032016 7)Y 32X16 1
7 148338000M v+ 7 FCP 1
8 802869000M 27N v H2.6X16X146 1
9 BSZ08025 afFyEE T MBX25 1
10 | NSZ08 aKyFy b 8 22 M8 1
11 1404610004 71— CP 1
12 PS050022 27N v IEY 5X22 2
13 140464100M 7 — LCP 1
14 096757000M vk 25.5%0.6 -
15 DC025 CHsvA A7 YU 25 1
16 140468000 oy B 1
17 | 000085200M N—FZ KV ;8X16 1
18 | PC032016 oYy 3.2%X16 1
19 130191000M 7w ¥y, 165X1.0 2
20 | 0951061000 v A 25.5%0.2 -
21 148340000M oy FCP !
22 WRA10 ESHH R MI0 1
23 | PC032020 TUEY 3.2%20 1
24 | 079422000M Taa—7 v 10X40 1
25 079423000M v 10X40 1
26 | NSZ10 aFyFy b 8 2¥a MIO 1




MRB0855T - MRB0855N

INIO—)LR—5

Oy¥%27
065 0050-1004
FHEE| H e E S ) 7 T W
1 | 148326100 | 757 » FCP; L 1
o | 148321000M | 757 hCP R 1
3 | BSZ10035 S ASFL L T MIOX3 1
4 | 044098500M | 7w o ;10 1
5 | WsAlo NxvAE 399 M0 1
6 | 1483201004 | 7 v 7 2
7 | 148319000M | XU v 7 - HA0X16X 107 2
8 |057788100M | v 4 =
9 | 0873081000 | S 4 ; 205%0.27 -
130793652004 | 755 5 ¥ 2
14| BSZ080T5 SHEEAE T MEXT5 2
15 | NNF08 75 U AE sy b M8 2
16 | 140589000M | U0 —Rm» F CD 2
17 | BSZ080%5 SASFEAL T MSXZ 2
18 | NSZ08 SHFFo b 8 20 M8 1
19 | WRAOS ESvAs M3 2
20 | 079424000M | 74 —2 = v K 8x30 2
21 | 079425000M | €2 ; 8%32 2
22 | 079375100M | 270 v 7 H 1
25 | 063276000M | AL b MO 1
24 | NSZ10 SHFF o b 8 20 MIO 2
%5 | 148336000M | 7 — ACP; L 1




Ovdvd

13990-2

065-0050-1004

RiEs

o EE

e

i}

26

148332000M

7—4CP R

27

DC020

CHs b A7

v 20

28

ONB6

7Y —2=y 7NV B M6

29

NSZ10

a4 Fy b

8§ 2¥=a

M10




MRBO0855T - MRB0855N /MO —JbR—3
SR

RiEs HmES #B G % i) EES i %
1 0818811000 NYy=—=27,C 1
2 1064890000 RN r4ay 15 1
3 0792650000 T=T AT a5 1
4 1511310000 NN vA4as 218 2
5 1064190000 NN g4 a7 38 1
6 1064980000 SN aA4as 84 2
7 0008600000 DS x—bT 1~} 1
8 1064790000 SNV rA4ay 65 1
9 1003541000 SRV, AL TFVRY 1
10 1418430000 Z 5 254 7L (STAR) 1
11 1418440000 I~ A+ 54 7R (STAR) 1
12 1419300000 Z v ;5 0800 2
13 1418450000 INNVRMSAT 1
14 1419320000 TGN =N AANA 1
15 1410440000 SRV, FavksS 1 1
16 1484260000 EAA L 1| MRB0855T
17 1410930000 ARV M S 1| MRB0855N
18 1511280000 SN 4 ay 215 1| MRB0855T
19 0008610000 UZsx—s7v—+¢ 1




NO—IVR—5

FIN—
2
1
[ 139885
5-0053-1004 rr@
3

B an

Ny

i

&
%

AES WMEEFEF

1413490003 7o vk HN—CP;L 1
| 1497220003 7a vt #N—CP; R 1

3| 1471270000 HN—=Fy F 2

4 | 141357000M 75 4y hCP 1

5 | BSZ08025 aHyRLE T M8X25 4

6 | NSP08 AHGRFY YT F b 4 M8 4
10 | 1408451003 4=+ Hx—CP 1
1181490000 =#1); M8 4

12 | 0333783000 7Yy T 1
13 | WRAD8 ESHH % M8 2
14 NSP08 AHFFZATVTFy b 4 M8 2

15 | 0009311000 F4t8% ; R—80CI (S7 » FM5A) 2
17 | 1415680004 754y FCP 1
18 | BSPZ08025 aNFSWy R HEL L T M8X25 2
19 | 1413590003 51 7%—~CP 1
20 | CP06016 +FNTHY MBEX16 2

21 | NP06 Z7Y T Fy b M8 2
22 | WRA06 ES¥H R M6 2
32 | 1404691003 by 75N —CP 1
33 | BSPZ08016 aHFSWYy AR L T M8X16 4
34 | WRAO8 ESHH % M8 4
35 | 1404702003 B YH5—CP; R 1
36 | 1404722003 by YAhN—CP; L 1
37 | BZ06016 Fb 88 M6X16 8
38 | WS06 NEFEHF 27y M6 8




MRB0855T - MRB0855N

FI/N—

INIO—)yR—5

13588-5
065-0053-1004

B

RiEs| HmBES R Hm # i % T =
39 | 0665562000 TRy bF v F 2
40 | CP06035 +FNaxY M6X35 2
41 | NNF06 75V F4avFy b M6 2
42 | 043000400M AN—=1 .y 7 (D 2
43 | BSZ08020 adyEr T MBEX20 2
44 | NSP08 AHFRATY T F v - 4 M8 2
45 | 044097200M Tw ¥y ;8 4
46 149721000M 727 v +CP; R 1
47 | WCR1HO8 FINRFEHNR 1vavay M8 4
48 | 044097200M T ¥y ;8 2




IND—INy =2, AT

AES MREFSF # tn % R %« i &l
1 1161640000 AR S e O 1
2 075290100M Ty vy 10 2
3 WSA1L0 SNERYHER 3T MI0 2
4 BSZ10025 aFyFErr 7 MIOX25 2
5 122614100M A7 — 5 14X16 1
6 KFD05050200 | ~qfawf— Javbs 5X5X20 1
7 122615000M X7’y b 40X9T 1
8 133816000M Ty vy ;6.6X1.6 1
9 WS06 NERYHAER 29T M6 1
10 | BZ06016 F b 88 M6X16 1
11 124868000M A7y by 40X43T 1
12 | NZi2 Fv b 8 2va M2 1
13 | 040608401M Ty ¥ 183X45 1
14 | WSAI2 NERHFHAF 33y M12 1
15 | LA40056 o—35F x— 40X56L 1
16 153544000M L3—CP; MRB 1
17 | BSPZ08016 aAFIWy FKE T MBX16 1
18 | BSZ08020 a#gEmr T MEX20 1
19 | NSZ08 a#yry b 8 2¥a2 M8 1
20 1528890000 BEE— 5 1
21 NP06 ATy TF e M6 3
22 | BZ06035 F b 88 M6EX35 3
23 163541000M £T—4%~—2ZCP; MRB 1
24 BSPZ08016 aHFSWyHELE T M8X16 2
25 141931000M 27 vy H23X11X95 1




MRBO0855T - MRB08bbN
IND—INy b —S, A7

INIO—IbR—5

52

Rii%Es MBRES & &t # L3 % i E
26 | BZ06030 HK k88 M6x30 1
27 | 1405201106 ¥ ) ¥4 ; CSH35X 210X 375 1
28 | 103404 F—RT KXY F PPl AXPTL 4 1
29 | 1006—04 & — 24 2 AA W PF1/4xPTL 4 1
30 | 112531000M | Rm—y & —2mu7 ;14 1
31 | 2083—04 =y 7N PT1/4 1 .
32 | 0009280000 Ak FANT 5 1/4 1
33 | 2088—04 X A4 Rz PTL/4 2
34 | KHO40I1200BE | 27 v4—2 1,/4x1200 S1—S902 2
35 | 1251850000 oAy b ¢30 2
36 | ILT150 {v¥amy 54 35X152 3
37 | ILT250 {Yvaoy 54 48x251 1
38 | 157035000M | £ ¢ 16X 102 1
39 | 157041000M | £ > $¢16x9 1
40 | 059092100M | %1 5 — ; 20x50 1
41 | EHI382467591 | 9— K27 5> 7 ; 8.5—85 2
42 | 0749681000 ZNA SNF 2~ ;500 1
43 | 1514461000 £—%avbo—la=, hCP 1
44 | CP04016 +FNaRY MAX16 2
45 | WS04 NEFAE 2TV MA 2
46 | WRAA ESHAA M4 4
47 | NAO4 Fob 4 2va M4 2
48 | 801552000M | 7 » ¥ ¥ ; 6.1X1.6 2
49 | NZ06 Fy b 8 2va M8 3
50 | PC040025 7)€Y 4X25 2



IND—)Ny b —2, AT

{50
28
28
32 3 &%& » 38 {50 51
% 5&\ i w
Bf}/g%é o s
35 3g J\J\ ,
o
EITAR
AiEs #H o &S G ot # (2] %K G &l
ol 000738000M DryFEY ;S 2
52 1570360000 74 ¥CP ., ¢6.3X400 1




MRBO08b5T -
Tk

MRB0855N

INBIO—JVR—5

g

A

A i ]
-5~
}\""7—}\"‘y{7’—:/“AS/ % 3 456,14
FLEOE-FA
\
2 (0 7
910
A
9 4
RHEE]| WS R T i =

1 1345440000 a— ;3500 1
2 | 1450580000 |77 a-F 1
3 | 1442520000 | AWF— 1 F = —7 ;300 1
4 IRF100 JE—FF 4 7.4X100 1
5 | IPR200 7y o) ) —A54_ SG PN 7
6 ILT150 A v¥amy 7454 35X162 6
7 1400860000 Frev 249 F ; NC 1
8 CP03016 +FXa2xY M3X16 2
9 NAO3 Fv b 4 2¥=2 M3 2
10 W03 NERHFHA R 239 M3 2
1 1450491000 avra— WKy 72, bTAY 1| MRB0855T

1450501000 IV =R 2 A S SO 1| MRB0855N
12 130496000M 757 2 | MRB0855T
13 FU30A bEa—X;30A 1
14 ILT250 Avvamy 7 dA4 48X201 3

—30—




Aoy (FTav)

INEI O — )y R—5

,/
AT AT T— L L] ,/;/

13957-1

RiES HamFS s o % i %k T &l
ASY | 1403990000 #o v FAS
1 1234640000 A vE ;R 1
2 CP03010 +F~axy M3IX10 4
3 WS03 NEAHFH R 2T9 M3 4
4 NAO3 Fo b 4 2¥a2 M3 4
5 141472000M % 1
6 BZ06012 Rk 8.8 M6XI12 2
7 WS06 NERFEH R 279 M6 2
8 WRAO6 bR M6 2
9 141473000M oy K 1
10 | BSZ08030 apyFEr 7 M8X30 1
11 | WRAO8 EsH¥Ax M8 1




MRBO0855T - MRB0855N
F—=bEYFIP, Daf2 b

INBIO—IVR—S5

16\§

30

>
ETHE
RES HEES S 5 % i 8% fi

| 115809000D A—tbwyFCP; S 1148 47
2 | 115795000M 7 v 2CP; L 1148 547
3 | 115796000M 79 2CP; R 148 547
4 | ONB6 7Y —2=y 7N B M6 2048 5147
5 | 089217000M 277 L 1145 947
6 | 099599100M 27Y ¥R 148 947
7 | WRAO6 ES¥AE M6 4148 547
8 | WRA20 ET¥EH R M20 2148 47
9 | PS060040 A7 Y IEY x40 2048 547
10 | 115820000M Yr 7 b8 1148 947
11 | 115818000M 75— 21.6X30 1,48 547
12 | 115819000M A7 VT A4OX25X60 1148 547
13 | WRA20 EFH¥H % M20 2148 47
14 | 115801000M LoN—CP ;L 1148 947
15 | 115803000M LoN—CP ;R 1/45 547
16 | 0006810000 =¥y ;14 1148 947
17 | BSZ08045 aFyELE T MBX45 2148 547
18 | NNF08 75vYF4avsy b M8 2148 547
19 | 000006200M oy—)ysEY ;0.1 2148 547
20 | NAA22150 Fob 4 1va M22X150 2148 ¥4 7
21 | WS22 SEFHF 3TY M2 2048 147
22 | 099603100M 7= A 1148 547
23 | 099604000M 27Y T 1148 547
24 | WRA06 EI¥FH % M6 2048 s47
25 | 099605000M AA K 1148 547

|
I




A—pbEYFIP, DaA b
N
15
30
g
EEHE
REEE| B R E S % B & B T 2 £
26 WRAI16 ESsHHEx MIS 1,48 247
27 PS060032 RFY Ty 6X32 1145 247
50 JSSBO50ASY N —Jg4 vk SSB—50 1By 17
JSSBO60ASY Ny —Y a4k SSB—60 1138 947 &7z v
31 JQWMOL0ASY | 7 —Y a3 A4 »F QWM~-50 1148 2147
32 107399000M H R — b 2148 #1417
33 BSZ10025 aFyEvE T MIOX25 614S #1477
34 NSZ10 afyFor 8§ 2= MIO 6145 9147
35 107400000M oy F 1148 247
36 NSP10 afly ANy 7F e b 4 MIO 2145 #7147
37 WSAIL0 NxHHx 33 MI10 614S #17




SSB—5h0
NI—aAvph (BESATH)

PIC
Ve
RS HmES B oo # i) LEES i &l

ASY | JSSBOS0ASY | ¥YaA v b+ 2% 8SB—50 1
1 JSSBO501ASY | YaA4 v b A4 423 SSB—50 1
2 JSSB0502ASY | YaA4 ¥+ 79473 SSB-50 1
3 JPYSSB Ervy+a—2 (88B) 2
4 JSSBASY A4 4 73 SSB AS050 2
5 JFYSSB1 TJawTavsa—4o 4w+ (SSB) 1
6 JS5B0501 A7 A vF SSB—50 1
7 JPCI4ASY 757y 73 (14 2
8 JSSB0503 TvE A= 4 vF SSB—50 1
9 PS10050 27y v IEY 10X50 2
10 | JFYSSB2 Ja4wTavya—s Tvi (SSB) 1
11 JSSB0502 A7 7oy SSB—50 1
12 | JSSB0504 TryEYHoN—- Ty SSB-50 1




INT—=D a4 BSHZATH, #TaV)

REES| MmF S # Hn % ) %k T =l
ASY | JSSBOG0ASY | YaA ¥k 273 SSB—60 1
1 JSSBO601ASY | Yad4 v AvF2z 3 SSB—60 1
2 JSSBOBO2ASY | YaAt v b 7oy 35B—60 1
3 JPYSSB Ervida—24 (SSB) 2
4 JSSBASY 254 4 73 SSB AS050 2
5 JFYSSBL TJ49Fa¥sa—2s 4A4vF (SSB) 1
6 JSSB0601 A7 A vF SSB—60 1
7 JPCI4ASY yo3vrEY 73 (14) 2
8 JSSB0603 TEVYAN— A vF S8B—60 1
9 PS10050 27y ey 10X50 2
10 | JFYSSB2 Ty Frra—y T (SSB) 1
11 JSSB0602 N4 7o SSB—60 1
12 JSSB0604 TrvEyAsN— Tvy SSB—60 1




QWM —50
IND—D a2 b

RiFs MEES i i % PR % & £
ASY | JQWMOB0ASY | X7 —Ya A v F QWM~-50 1
1 JWMOS01IASY | YaA b A v+ 3 WM-50 1
2 JQWMOS02ASY | YaA4 v+ 795273 QWM—50 1
3 JPYWM EryFa—s (WM 1
4 JMDASY 2734 5 (MD) (2 3)  AS205 3
o JCYM cCva—2 (M) 1
6 JEFYWM1 T4 Tavya—s 4rF (WM 1
7 JMD0501 NA T A4 v+ MD—50 1
8 JPC14ASY 75 v7EY 23 (14 1
9 JWMO0503 TryEY AN~ v+ WM-—50 1
10 PS100065 27Y Ty 10%X65 1
11 0471120000 LY FaE—7 1
12 JYPMDO050 NLFyFa—~s MD-50 1
13 JMD0504 TvEYAN— Ty MD-5) 1







4

S—180122F

T ® A £ 066-8555
TREEZEM 066-8555
SEEERM  098-4100
wILE R 080-2462
RIREER  086-1152
EEEXMR 0283172
e EXM 983-0013
INLE PR 323-0158
AL SR AT 484-0894
mILESRFF  700-0973
BEAREEF  861-8030
#HWMERFF  885-1202

TR W EE®MLIOE 1 F H 2

TELO123-26-1123
FAX0123-26-2412

FEmmEEEHRLI O 1L F M 2
TELO123-22-5131
FAXO123-26-2035
KIEHEEMNFE LYY 1191 %44
TELO1682-82-1932
FAXO162-82-1696

AWM 22441 TEL2EHM4
TELO155-37-3080
FAXO155-37-5187

EEAM R EENIGT 2 THL 6% 2
TELO153-72-2624
FAXQO153-73-2540

S FEEAETTARAIILFME L1 HE1207%3
TELO198-46-1311
FAX(0198-45-5999

BB ETEREX P EMBE1I79-1
TEL O22-388-8673
FAXQ22-388-8735

R B b B 2512 -1
TEL 0285-49-1500
FAX0285-49-1560
EFEHERXLUTPNEFTABBSEL
TEL O568-69-1200
FAXO5868-69-1210

B EMILUHEX THRH704-103
TELO86-243-1147
FAX(086-243-1269
RRAERATHEREX/MNUN1639 -1
TEL 096-389-6650
FAX096-389-6710
BRSNS M EmEE 1003 -2

TELO986-53-2222
FAX0986-53-2233

T.30. 01. 4S5



